TPS 320i

TPS 320i /nc

TPS 320i /MV/nc
TPS 320i /600V/nc

TPS 320i Pulse

TPS 320i Pulse /nc

TPS 320i Pulse /MV/nc
TPS 320i Pulse /600V/nc

TPS 400i

TPS 400i /nc

TPS 400i /MVinc
TPS 400i /600V/nc

TPS 400i Pulse

TPS 400i Pulse /nc

TPS 400i Pulse /MV/nc
TPS 400i Pulse /600V/nc

TPS 500i

TPS 500i /nc

TPS 500i /MVinc
TPS 500i /600V/nc

TPS 500i Pulse

TPS 500i Pulse /nc

TPS 500i Pulse /MV/nc
TPS 500i Pulse /600V/nc

TPS 600i
TPS 600i /nc
TPS 600i /600V/nc

TPS 600i Pulse
TPS 600i Pulse /nc
TPS 600i Pulse /600V/nc

4,075,172

4,075,172,800
4,075,172,830
4,075,172,970

4,075,178

4,075,178,800
4,075,178,830
4,075,178,970

4,075,174

4,075,174,800
4,075,174,830
4,075,174,970

4,075,179

4,075,179,800
4,075,179,830
4,075,179,970

4,075,176

4,075,176,800
4,075,176,830
4,075,176,970

4,075,180

4,075,180,800
4,075,180,830
4,075,180,970

4,075,177
4,075,177,800
4,075,177,970

4,075,181
4,075,181,800
4,075,181,970

Spare parts list: TPS 320i / 400i / 500i / 600i

95



@_ _42,0405,0005
42,0201,2966

___________ i 42,0201,3189

42,0405,0754 |

42,0405,0691

42,0409,3376  TPS 320i
42,0409,3377 TPS 400i BU2,0201,3002
42.0409,3375 TPS 500i
42,0409,5196  TPS 600i

42,0405,0689

__ __/__/ﬁ“é@?_o_oﬂ??‘l 43,0004,0987
43.0004,0782 (600i)

42,0405,0846
42,0201,4626 (600i)

42,0409,0007 - nc
42,0409,2902

42,0405,0836

42,0405,0844

M 4x12 | 42,0407,0546
M 4x30 | 42,0407,0146
@ M 5x12 | 42,0407,0664

M 5x14 | 42,0407,0726
A\ 4,044,031 M 5x17,5[ 42,0407,0733

Gy- - M 5x30 | 42,0407,0488
M 5x55 | 42,0407,0487

96



43,0010,0396 B
430010,0406 (800 7P

4,071,552,320,Z  (BLT5002 320)
_L__4071,552.Z ~_(BLT5002 400/500) 43,0004,4390
________ MCU-RJ45
4,071,175Z2  (HLP5000) _§;
, __(600i) _ 43,0001,1186
4,071,391,Z (RP5000CAN)
_1_4,071,267,Z (RP5000) __
__43,0001,1187
4,071,177,Z  (ELC5000CAN)
4071.178,2 __ (ELCS000) ___ N_ It} 43,0001,1457 (400i/500i MV)
_43,0001,1468 (600i)
_43,0004,4950 (600i)
4,071,467,Z  (BPS3200-320i) |
4,071.166,Z  (BPS4000-400i) .
40711682  (BPS5000-500i)
40711702 _(BPS6000-600) ||l - 1200011128
o
33,0010,0401  (320i/400i) k
33,0010,0403  (500i) j
33,0010,0453 _ _(600i) W8 | B
33,0010,0406
42,0409,2903 | NI|] @208y .2V =0 &2 t0sTEoTC0
4300020417 N X ~ G, 0 o
4,071,176,2
a1 (ELA5000)
42,0406,0294

42,0300,1677
42,0405,2110 (600i)

43,0001,3380
43,0001,3362
43.0001,3391
43,0001,3390
43,0001,3477
43,0001,3478

(320i)
(400i/500i)
(320i MV)
(500i MV)
(600i)

(600i / 600V)

97




Roboter Interface FB Inside/i

4,044,014

M3x18

42,0401,0887

42,0401,1113

6@ )
M5x12

42,0401,1118

42,0405,2067

98




TPS 400i LSC ADV

TPS 400i LSC ADV /nc

TPS 400i LSC ADV /MVinc
TPS 400i LSC ADV /600V/nc

45,0200,1379

BY2,0201,4500

BY2,0201,4047

S
~
~

4,075,175

4,075,175,800
4,075,175,830
4,075,175,970

BY2,0201,4500

42,0201,4512

e 42,0402,0039

R

M5x10 |42,0401,1114

M5x12 142,0401,1118

M5x25 |42,0401,1116

2

M4x9 |42,0401,1030

M5x8 [42,0407,0601

M5x12 142,0401,0959

4,071,187,Z (ARS50)

3
&

42,0405,0849 |

99

/ ___45,0200,1379





